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Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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Good project ideas are key to success. List out

various sources you would tap to identify them.

Demand Forecasting is a challenging task. Explain
various methods used by Project managers for

forecasting demand of a product. 78
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Location of the project is important for its success.
List out the factors considered most essential while

finalising the location of the project.

Describe the various means of finance available to

meet the cost of the project. 8,7 ‘
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What are the benefits of availing demat services?
Is it possible for an investor to open multiple demat
accounts? What are the essential conditions for the

same?

What are the important channels for exit of

investments in venture capital financing? 8.7,
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Compare and contrast export factoring with forfeiting.

How is life inéurance different from general
insurance? What are the key differences between
a term insurance policy and an endowment plan?
Which is the most popular form 6f insurance

policy these days? . 6.9
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A 28 years old executive with a monthly salary of
¥ 50,000 per month is able to save T 10,000 monthly,
He intends to invest the same in mutual fund schemes.
Suggest appropriate Mutual fund schemes for
investment by ‘him giving appropriate reasons for the |

same.

Explain the concept of Lease and Hire Purchase.
What are the key differences between the

two? | 8,7
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The RBI has instituted a strong and comprehensive
supervisory mechanism for NBFCs. Describe this

supervisory framework.

Discuss the principal sources of discrepancy between
social costs and benefits on the one hand and

monetary costs and benefits on the other. (7,8)
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A firm is required to choose between constructing
a large or small factory to produce a new line of
products. The large plant would be needed if the
future brings a high demand for new products. But
the large plant would have new cash inflows below
the ¥ 10,00,000 outlay, if demand is medium or low.
The present value cash flows are ¥ 14,00,000 with
high demand, ¥ 9,00,000 with medium demand, and
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7 6,00,000 with low demand. The smaller plant
produces a lower return if demand is high but has
high positive net present values at medium demand.
It would cost ¥ 2,00,000 as a cash outlay and would
return a present value inflow of ¥ 3,20,000 with high
demand, ¥ 2,70,000 with medium demand and
¥ 1,80,000 with low demand.

What is the net present value of each alternative
if there is a 40% chance of high demand and 20%

chance of low demand?

(b) A company is considering a new machine. The net
cash flows have been estimated as follows :

Year 1 Prohabi]jtg.,' Year 2 | Probability
Net cash | ¥10,00,000 04 ¥ 8,000 0.5
Flow 12,000 0.5
Net cash | ¥12,000 0.6 T16,000 0.4
Flow 220,000 0.6

The cost of the machine is ¥ 20,000 with an
estimated life of two years and cost of capital
of the firm is 12%. Use a decision tree approach
to recommend whether the equipment should be

purchased or not? 8,7
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A government is considering building a tunnel across
a sea channel which can currently only be crossed

by ship. The following information is available :

() The tunnel will consist of a two-track railway
and cars and passengers will be carried by train.
It will cut crossing time by two hours for cars

and passengers.

(i) The relevant categories of traffic are :

gF BRI s(q) Cars (and their passengers)

(b) Passengers not in cars
(c) Freight.

(iii) The authorities who would operate the tunnel
have decided to charge a toll which would
maximise revenue. The toll charge willbe T 175
per car which compares favourably with charge

by ship which is T 275.
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(") Because of the quicker and’Clieaper journeys
available, it is forecasted that the following traffic
per year for the foreseeable future will be

diverted from the existing method of travel :
80,000 cars (with an average of two passengers)
55,600 passenge;s (not in cars)

3,80,000 tonnes of freight

In addition 60,000 extra car Journeys (with two

passengers each) will be made.

(v) The average value of passenger time is ¥ 7

per hour.

(vi) The diverted traffic will reduce cost of operation
of existing ship by ¥ 45 million a year, while
at the forecast levels of traffic, the maintenance
and operating cost of the tunnel will be T35
million. Its capital cost will be 7 425 million.
The life of the tunnel will be 50 years,

Assuming that the monetary figures given above
reflect social value, calculate the IRR of the stream

of social cost and benefits, 15
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Write short notes on any three : 3Ix5=15

(i)  Difference between UNIDO and Little Mirrlees
Approach

(i) Life Cycle Approach
(i) Shadow price of labour in a labour surplus economy

(iv) Credit Rating of States and Countries.
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